N = 0l & At & Ml A

20148 & 20l EAAFHI AR ALY MK
AN XSEEH
Ha: SEARHIY XA
ce dEAFTHI AR A (ZH HX LI AY) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S Z M 1,602,540 34,516 1,568,024
J| 1,592,540
e 10,000
AFEXSE XE ALY 1,602,540 34,516 1,568,024
Jl| 1,592,540
s 10,000
LEAFHI AN AN (LEATHT AKX A ALL) 1,602,540 34,516 1,568,024
J| 1,592,540
s 10,000
HHAFHI DX 2AS 1,602,540 34,516 1,568,024
J| 1,592,540
s 10,000
401 AIEHIZL 20HEI 347,242 32,540 314,702
J| 347,242
1T AIZHI 347,242 32,540 314,702
O[AI&HI] 319,920
Od=s &3l =2 MEURESAM
18,540,000 * 14l 18,540
J| 18,540
OdS i s2 AEIRESA
15,000,000& * 14l 15,000
J| 15,000
Ods tiel s2 MEUFRESAM
15,000,000& * 14l 15,000
J| 15,000
OdY Uel3el EXNshtE == EHISA
16,640,000& * 14 16,640
J| 16,640
OdYy =432l s4tltS A2 EHISA
26,500,000 * 14l 26,500
J| 26,500
OdY s&1el E=2s0ts SZEUISA
24,500,000 * 14l 24,500
J| 24,500
oYY &liel Otsgl £d3A
28,500,000& * 14l 28,500
J| 28,500
OEd S8 MY =2 2+=3M
14,000,000 * 14l 14,000
J| 14,000
08 &2l =02 Mz SELHEIA
26,000,000 * 14 26,000
J| 26,000
OGd & Y=Y HELFSA
9,440,000& * 14 9,440
J| 9,440
O s4F MU HEFDA
12,000,000& * 14l 12,000
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20148 & 20l EAAFHI AR ALY MK
AN XSEEH
Ha: SEARHIY XA
tel: SEAFHIAXN AN (LEAFHILAX ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
J| 12,000
OCSZ NEHY HTZTA
12,000,000& * 14l 12,000
J| 12,000
OYd =HHDS OHAZTEESAM
15,000,000& * 14l 15,000
J| 15,000
03T oigel ¥2TIHTA
44,000,000& = 14! 44,000
J| 44,000
0% 308 2371+ £X
22,000,000& * 14 22,000
J| 22,000
O=& XNX0tS OtAZEZE S A
20,800,000& * 14l 20,800
J| 20,800
O[&AIEAHI] 27,322
OdYgs SULAFHIA AAILAHHI
7,970,000& = 14 7,970
J| 7,970
OGN ZHALMFHIA AAIEAHY
17,560,000& * 14 17,560
J| 17,560
O=2&dH SHLMFHI A AAIELHAH
1,792,000& * 14 1,792
J| 1,792
402 RIZEXtE0| A 1,245,298 1,245,298
J| 1,245,298
01 2I2tR2E X 1,245,298 1,245,298
OZg tatel Es=sX 7
28,160,000& * 14 28,160
J| 28,160
OZe teeel E2s=sX 7
32,000,000 * 14 32,000
J| 32,000
OZe Hal3el EX=s0tS3 2 EHISA
10,000,000& * 14 10,000
J| 10,000
OgY Zgiel Dt NSEFSA - 2 &
Z0t2 10,000,000 * 14 10,000
J| 10,000
OZg el oAt A EXISAM - 3lstd
ot 17,600,000& * 14 17,600
J| 17,600
OZg Fgeel Es=sX 7
32,000,000 * 14 32,000
J| 32,000
Oggd =412 =402 as&21D 53
9,000,000& = 14! 9,000
J| 9,000
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AN XSEEH
g gMAFHIS NS MY
Chelr UHAZHAGAX AN (LHAZHAT L) (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=& otd3cittE EssA ¢
43,050,000& = 14! 43,050
J| 43,050
O=&d agielnts Essi ¢
42,980,000& = 14! 42,980
J| 42,980
O=&d aygzeltts EssA ¢
42,980,000& » 14! 42,980
J| 42,980
O=& aygaclots EssA ¢
42,980,000& 14! 42,980
J| 42,980
O=& Es1elbts Essi ¢
42,840,000& 14! 42,840
J| 42,840
O=& g&2citt2 Es=sA ¢
42,840,000& » 14! 42,840
J| 42,840
O=& &322 Es=sA ¢
42,840,000& » 14! 42,840
J| 42,840
O=& E&4cltts E2s=sA ¢
42,840,000& » 14! 42,840
J| 42,840
O=& &s2cltt2 EssA ¢
44,000,000& 14! 44,000
J| 44,000
O=& gateltts Essil ¢
44,000,000& = 14! 44,000
J| 44,000
O=28 RENS 20lad==3M
44,000,000& = 14! 44,000
J| 44,000
033 #5el0te TSN 7Y
43,004,000& = 14! 43,004
J| 43,004
O=s8 MRt 3ssJIH 7E
43,000,000& » 14! 43,000
J| 43,000
O=& &2 Es=sI ¢
43,004,000& = 14! 43,004
J| 43,004
801 GBI bl 10,000 1,976 8,024
01 ollBl8l 10,000 1,976 8,024
Ouulgl bl 10,000,000 * 14 10,000




